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0= -k, +2k,
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1.3 (10) (C‘.\ Cos 2% liesin Thhe space spavned Dy siv A omd cos X

it we can find coustauts k, and k, fuodt satisfy e

v

equaticnm k,cos?x+ k, Sl E o 4

T4 we use The *‘"‘j ’de»»«mﬁ*( cos 24 = Cos X —SinTX

we have k,cos?x+k,sin?x = cos?x —sin*XA,

Se k. =1 gqucl i<, = ay i luus, cos 2x lies iu The space
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S PL\VW&E*@\ bY sinlA aviad cos?x,
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@ We weed 10 Yrua ccvistants k, aucl k. flueet gorlsy e
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s = 25 3 I s B = i
Q‘C(\.,C\*“‘/" //‘i S X F L, Cag ~ A =1

We kuaw that sin2a+Cos?4 =1, Thwus k, =k, =1 Satisfies

Tue eqguaticu, so [ Lles d Tle space speined b\/

D mk 5 5
St X awnd cos 4,

25. Since y; and y, are solutions, they are differentiable. The hypothesis can thus be
restated as y/(¢,) = y, (o) = O at some point ¢, in the interval of definition. This
implies that W (y, , v2)(t0) = 0. But W(y1,4)(t) = cezp( — [p(t)dt), which
cannot be equal to zero, unless ¢ = 0. Hence W(y,,y.) = 0, which is ruled out for
a fundamental set of solutions.




